SUBJECT: Award of Bid No. 19-120B, Bergman Rd, Fritz Rd, Melin Rd, Dorismae Circle to Valley General Construction, LLC, for the contract amount of \$437,294.00.

AGENDA OF: June 11, 2019

The state of the s						
ASSEMBLY	ACTION:	011	Λ.		1	
appl	action: Oved unde	1 the	C	n se	u t	
as	unda 671-	19 TS	STOP OF			
		•				
MANAGER	RECOMMENDATION:	Present	to	the	assembly	for
considera	ation.					

Route Department/Individual Initials Remarks
To:

Purchasing Officer

Public Works Director

Finance Director

Borough Attorney

Borough Clerk

ATTACHMENT(S): Fiscal Note: Yes X No Analysis Sheet (1p)

SUMMARY STATEMENT: On May 10, 2019, the Matanuska-Susitna Borough Purchasing Division issued a solicitation requesting bids from qualified contractors to provide labor, equipment and materials to upgrade the roadways, and improve drainage along Bergman Road, Fritz Road, Melin Road, and Dorismae Circle. This project will involve, but is not limited to clearing, grubbing, excavation, installation of drainage culverts; import and placement of selected material (borrow) import and placement of asphalt paving, and placing topsoil and seed in locations specified in the plans and specifications.

In response to the advertisement, five bids were received. Award recommendation is being made to Valley General Construction, LLC as the lowest responsive and responsible bidder base on Total Amount Bid. The substantial completion date for this project is October 15, 2019 with the final completion of June 30, 2020. In accordance with MSB 3.08.170(B), Administration requests authority to modify the resulting contract completion date by 30 days for unforeseen circumstances.

The Public Works Department, Operations & Maintenance Division will be administering the contract.

RECOMMENDATION OF ADMINISTRATION: Award of BID NO. 19-120B, Bergman Rd Fritz Rd Melin Rd Dorismae Circle to Valley General Construction, LLC for the contract amount of FOUR HUNDRED THIRTY-SEVEN THOUSAND, TWO HUNDRED NINETY-FOUR DOLLARS AND 00/100 CENTS (\$437,294.00).

Page 2 of 2 AM No. 19-067

MATANUSKA-SUSITNA BOROUGH FISCAL NOTE

Agenda Date: June 11, 2019

Award of Bid No. 19-120B, Bergman Rd Fritz Rd Melin Rd Dorismae Circle to Valley General Construction, LLC, for the contract amount of \$437,294.00. SUBJECT:

ORIGINATOR: Purchasin	g										
FISCAL ACTION (TO BE O	FISCAL IM	FISCAL IMPACT (YES) NO									
AMOUNT REQUESTED \$437 294				FUNDING SOURCE Butte RSA Fund Bul/SA Budget Approx							
FROM ACCOUNT # 410.000.000. 4XL.XX+				PROJECT # 30046							
TO ACCOUNT:	0		PROJECT #								
VERIFIED BY:	bara/Sau	cemprete	CERTIFIED	CERTIFIED BY:							
DATE:	5/30/19	O	DATE:								
EXPENDITURES/REVENUES:		(Thousands of Dollars	5)		,					
OPERATING	FY2019	FY2020	FY2021	FY2022	FY2023	FY2024					
Personnel Services											
Travel											
Contractual											
Supplies											
Equipment											
Land/Structures											
Grants, Claims											
Miscellaneous											
TOTAL OPERATING											
CAPITAL	437.2	, · · · · <u>-</u>									
REVENUE	T				1						
FUNDING:			Thousands of Dollars	s)							
General Fund											
State/Federal Funds											
Other	437.2										
TOTAL	437.2										
POSITIONS:											
Full-Time											
Part-Time											
Temporary											
ANALYSIS: (Attach a separate p	age if necessary)										
PREPARED BY:		<i>f</i> /	11	PHONE:	7.00						
DEPARTMENT:	OINO MADO	Mind	. //	DATE:	Florida	9					
APPROVED BY:	me juju	XVICA	1	DATE:	0/01/	/					

DETAILED BID TABULATION: 19-120B Bergman Rd, Fritz Rd, Melin Rd, Dorismae Cir

					BIDDERS								
The same	La Mariana de				Western Co	Western Const & Equip Ahtna Construction				Pruhs Construction		Dirtworks, Inc.	
Item Number	DATHER SETTINGS AND THE	Pay Item Description	Pay Unit	Est. Quantity	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
1	201(3B)	CLEARING AND GRUBBING	LUMP SUM	ALL REQ'D		\$ 10,000.00		\$ 10,500.00		\$ 13,000.00		\$ 28,200.00	
2	202(2)	REMOVAL OF PAVEMENT	SQUARE YARD	154	\$3.00	\$ 462.00	\$10.00	\$ 1,540.00	\$5.00	\$ 770.00	\$2.60	\$ 400.40	
3	202(4)	Removal of Culvert Pipe	LINEAR FOOT	297	\$12.00	\$ 3,564.00	\$9.50	\$ 2,821.50	\$10.00	\$ 2,970.00	\$8.65	\$ 2,569.05	
4	203(3)	Unclassified Excavation	CUBIC YARD	3,650	\$8.00	\$ 29,200.00	\$6.00	\$ 21,900.00	\$10.00	\$ 36,500.00	\$7.25	\$ 26,462.50	
5	203(9)	Obliteration of Roadway	SQUARE YARD	324	\$8.00	\$ 2,592.00	\$2.00	\$ 648.00	\$14.00	\$ 4,536.00	\$6.55	\$ 2,122.20	
6	203(19)	Borrow, Type IIA	TON	7,130	\$12.00	\$ 85,560.00	\$13.25	\$ 94,472.50	\$13.00	\$ 92,690.00	\$11.00	\$ 78,430.00	
7	301(1)	AGGREGATE BASE COURSE, GRADING D-1	TON	2,060	\$22.00	\$ 45,320.00	\$19.25	\$ 39,655.00	\$25.00	\$ 51,500.00	\$24.00	\$ 49,440.00	
8		HOT MIX ASPHALT, TYPE II, CLASS B	TON	1,555	\$95.00	\$ 147,725.00	\$102.00	\$ 158,610.00	\$110.00	\$ 171,050.00	\$101.00	\$ 157,055.00	
9		12-inch CSP	LINEAR FOOT	1042	\$30.00	\$ 31,260.00	\$32.00	\$ 33,344.00	\$50.00	\$ 52,100.00	\$35.60	\$ 37,095.20	
10		18-inch CSP	LINEAR FOOT	192	\$50.00	\$ 9,600.00	\$49.00	\$ 9,408.00	\$65.00	\$ 12,480.00	\$62.75	\$ 12,048.00	
11	610(1)	Ditch Lining	CUBIC YARD	905	\$22.00	\$ 19,910.00	\$26.50	\$ 23,982.50	\$66.00	\$ 59,730.00	\$23.90	\$ 21,629.50	
12	615(2)	Remove and Relocate existing sign	EACH	5	\$150.00	\$ 750.00	\$555.00	\$ 2,775.00	\$300.00	\$ 1,500.00	\$120.00	\$ 600.00	
13	618(2)	SEEDING	POUND	270	\$50.00	\$ 13,500.00	\$57.00	\$ 15,390.00	\$195.00	\$ 52,650.00	\$32.00	\$ 8,640.00	
14	620(1)	TOPSOIL	SQUARE YARD	7475	\$3.00	\$ 22,425.00	\$1.40	\$ 10,465.00	\$6.00	\$ 44,850.00	\$2.90	\$ 21,677.50	
15		Residence Driveway, Paved	EACH	2	\$350.00	\$ 700.00	\$250.00	\$ 500.00	\$500.00	\$ 1,000.00	\$400.00	\$ 800.00	
16	639(1B)	Residence Driveway, Unpaved	EACH	37	\$120.00	\$ 4,440.00	\$250.00	\$ 9,250.00	\$250.00	\$ 9,250.00	\$255.00	\$ 9,435.00	
17		Public Approach	EACH	5	\$1,000.00	\$ 5,000.00	\$400.00	\$ 2,000.00	\$500.00	\$ 2,500.00	\$550.00	\$ 2,750.00	
18		MOBILIZATION AND DEMOBILIZATION	Lump Sum	ALL REQ'D		\$ 8,000.00		\$ 9,600.00		\$ 10,000.00		\$ 20,472.40	
19		Erosion and Pollution Control Admin	Lump Sum	ALL REQ'D		\$ 3,000.00		\$ 11,600.00		\$ 7,000.00		\$ 1,500.00	
20	641(3)	TEMPORARY EROSION AND POLLUTION CONTROL	Lump Sum	ALL REQ'D		\$ 3,500.00		\$ 1,000.00		\$ 10,000.00		\$ 2,585.00	
21	642(1)	CONSTRUCTION SURVEYING	Lump Sum	ALL REQ'D		\$ 16,000.00		\$ 22,000.00		\$ 20,000.00		\$ 17,550.00	
22	642(3B)	Two Person Survey Party	HOUR	8	\$150.00	\$ 1,200.00	\$225.00	\$ 1,800.00	\$225.00	\$ 1,800.00	\$305.00	\$ 2,440.00	
23		TRAFFIC MAINTENANCE	Lump Sum	ALL REQ'D		\$ 4,500.00		\$ 22,800.00		\$ 25,000.00		\$ 2,968.00	
24	643(3)	PERMANENT CONSTRUCTION SIGNS	Lump Sum	ALL REQ'D		\$ 500.00		\$ 5,550.00		\$ 4,500.00		\$ 950.00	
25	800(1)	Interim Work Authorization	CONTINGENT SUN	1 ALL REQ'D		\$ 10,000.00		\$ 10,000.00		\$ 10,000.00		\$ 10,000.00	
	Total Amount Bid				\$478,	708.00	\$521,611.50		\$697,376.00		\$517,819.75		

West of		Valley General Const											
Item Number	Item Code	Pay Item Description	Pay Unit	Est. Quantity	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	тота	AL PRICE
1	201(3B)	CLEARING AND GRUBBING	LUMP SUM	ALL REQ'D		\$ 5,500.00		\$ -		\$ -		\$	
2	202(2)	REMOVAL OF PAVEMENT	SQUARE YARD	154	\$2.50	\$ 385.00		\$ -		\$ -		\$	-
3	202(4)	Removal of Culvert Pipe	LINEAR FOOT	297	\$8.00	\$ 2,376.00		\$ -		\$ -		\$	
4	203(3)	Unclassified Excavation	CUBIC YARD	3,650	\$7.24	\$ 26,426.00		\$ -		\$ -		\$	
5	203(9)	Obliteration of Roadway	SQUARE YARD	324	\$4.00	\$ 1,296.00		\$ -		\$ -		\$	-
6		Borrow, Type IIA	TON	7,130	\$10.70	\$ 76,291.00		\$ -		\$ -		\$	
7	301(1)	AGGREGATE BASE COURSE, GRADING D-1	TON	2,060	\$20.70	\$ 42,642.00		\$ -		\$ -		\$	
8		HOT MIX ASPHALT, TYPE II, CLASS B	TON	1,555	\$94.40	\$ 146,792.00		\$ -		\$ -		\$	
9	603(1-12)	12-inch CSP	LINEAR FOOT	1042	\$27.50	\$ 28,655.00		\$ -		\$ -		\$	-
10	603)1-18)	18-inch CSP	LINEAR FOOT	192	\$35.50	\$ 6,816.00		\$ -		\$ -		\$	-
11	610(1)	Ditch Lining	CUBIC YARD	905	\$17.20	\$ 15,566.00		\$ -		\$.		\$	
12	615(2)	Remove and Relocate existing sign	EACH	5	\$60.00	\$ 300.00		\$ -		\$ -		\$	-
13	618(2)	SEEDING	POUND	270	\$51.50	\$ 13,905.00	_ =	\$ -		\$ -		\$	-
14	620(1)	TOPSOIL	SQUARE YARD	7475	\$2.80	\$ 20,930.00		\$ -		\$ -		\$	
15	639(1A)	Residence Driveway, Paved	EACH	2	\$237.00	\$ 474.00		\$ -		\$ -		\$	
16	639(1B)	Residence Driveway, Unpaved	EACH	37	\$150.00	\$ 5,550.00		\$ -		\$ -		\$	
17	639(3)	Public Approach	EACH	5	\$300.00	\$ 1,500.00		\$ -		\$ -		\$	
18	640(1)	MOBILIZATION AND DEMOBILIZATION	Lump Sum	ALL REQ'D		\$ 10,000.00		\$ -		\$ -		\$	
19	641(1)	Erosion and Pollution Control Admin	Lump Sum	ALL REQ'D		\$ 990.00		\$ -		\$ -		\$	-
20	641(3)	TEMPORARY EROSION AND POLLUTION CONTROL	Lump Sum	ALL REQ'D		\$ 850.00		\$ -		\$ -		\$	
21	642(1)	CONSTRUCTION SURVEYING	Lump Sum	ALL REO'D		\$ 16,200.00		\$ -		\$ -		\$	-
22	642(3B)	Two Person Survey Party	HOUR	8	\$250.00	\$ 2,000.00		\$ -		\$ -		\$	-
23	643(2)	TRAFFIC MAINTENANCE	Lump Sum	ALL REQ'D		\$ 1,150.00		\$ -		\$ -		\$	
24	643(3)	PERMANENT CONSTRUCTION SIGNS	Lump Sum	ALL REQ'D		\$ 700.00		\$ -		\$ -		\$	
25	800(1)	Interim Work Authorization	CONTINGENT SUN	1 ALL REQ'D		\$ 10,000.00		\$ 10,000.00		\$ 10,000.00		\$ 1	10,000.00
	Total Amount Bid			\$437,294.00		\$10,000.00		\$10,000.00		\$10,000.00			

Am 19-067